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MENSURATION – 2D ASSIGNMENT  
 

1. Three equal circles of radius 3cm touch one another in outside.  Find the area 
enclosed by them  
3nr.kP MuKs;s %d;W tl;lq;fs; xd;iwnahd;W ntspNa njhLk;NghJ 
mtw;why; #og;gLk; gFjpapd; gug;G 
       

2. The arc length of a sector is 66 cm and the central angle is 30°. Find the 
Radius  
tpy;ypd; ePsk; 66 cm kw;Wk; ikaf;Nfhzk; 30° nfhz;l tl;lf; Nfhzg;     
gFjpapd; Muk; fhz;.  
 

3. Calculate the area of a sector whose radius and arc length are 6 cm and 20 
cm respectively  
Muk; 6 nr.kP tpy;ypd; ePsk; 20 nr.kP nfhz;Ls;s tl;lf; Nfhzg; gFjpapd; 
gug;igf; fhz;f.  
      

4. A park is in the shape of a quadrilateral. The sides of the park are 15 m, 20 m, 26 m and 17 
m and the angle between the first two sides is a right angle. Find the area of the park. 
xU G+q;fhthdJ ehw;fu tbtpYs;sJ. me;jg; G+q;fhtpd; gf;f msTfs; KiwNa 15 kP> 20 
kP> 26 kP kw;Wk; 17 kP kw;Wk; Kjy; ,uz;L gf;fq;fSf;F ,ilNaAs;s Nfhzk; 
nrq;Nfhzk; vdpy; G+q;fhtpd; gug;igf; fhz;f.  

 
5. The area of a circle is 220 cm2, then the area of the square inscribed in the 

circle is  
xU tl;lj;jpd; gug;gsT 220 r.nr.kP. vdpy; mt;tl;lj;jpw;Fs; mikAk; 
rJuj;jpd; gug;gsT 

 
 

6. A square is inscribed in a circle whose radius is 4 cm. The area of the portion 
between the circle and the square is 
4 nr.kP Muk; nfhz;l xU tl;lj;jpw;Fs; xU rJuk; tiuag;gLfpwnjdpy; 
tl;lj;jpw;Fk; rJuj;jpw;Fk; ,ilg;gl;l gFjpapd; gug;G 

   
7. A flower garden is in the shape of a rhombus. The length of its diagonals are 

18 m and 25 m. Find the area of the flower garden. 
xU G+e;Njhl;lk; rha;rJuk; tbtpy; cs;sJ. mjd; %iy tpl;lq;fs; 18kP> 
25kP> G+e;Njhl;lj;jpd; gug;gsT fhz;f.  
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8. Suresh won a parallelogram-shaped trophy in a state level Chess 
tournament. He knows that the area of the trophy is 735 sq. cm and its base 
is 21 cm. What is the height of that trophy? 
RNu~; vd;gth; khepy mstpyhd rJuq;fg; Nghl;bapy; ,izfu tbtpyhd 
Nfhg;ig xd;iw ntd;whh;. mf;Nfhg;igapd; gug;gsT 735 r.nr.kP kw;Wk; 
mbg;gf;fk; 21 nr.kP vdpy;> cauk; fhz;f.  

         

9. A ground is in the form of isosceles trapezium with parallel sides measuring 
42 m and 36 m long. The distance between the parallel sides is 30 m. Find the 
cost of levelling it at the rate of ì 135 per sq.m. 
Xh; ,Urkgf;fr; rhptfk; tbtpy; cs;s ikjhdj;jpd; ,izg; gf;fq;fs; 42 
kP kw;Wk; 36 kP. ,izg;gf;fq;fSf;F ,ilNaAs;s njhiyT (cauk;) 30 kP 
vdpy;> me;j ikjhdj;ijr; rkg;gLj;j xU r.kPf;F ì135 tPjk; vt;tsT nryT 
MFk;?  
 

10. A Rose garden is in the form of circle of radius 63 m. The gardener wants to 

fence it at the rate of ₹150 per metre. Find the cost of fencing? 
63 kP MuKs;s tl;l tbtpy; xU Nuh[hj; Njhl;lk; cs;sJ. mjd; 
Njhl;lf;fhuh;> kPl;lUf;F 150 tPjk; nryT nra;J> mj;Njhl;;lj;jpw;F Ntyp 
mikf;f tpUk;Gfpwhh; vdpy;> mjw;F MFk; nkhj;jr; nryitf; fzf;fpLf.  
 

11. A garden is made up of a rectangular portion and two semicircular regions 
on breadth sides. If the length and width of the rectangular portion are 16 m 

and 8 m respectively, calculate    3.14 
xU nrt;tfj;jpd; mfyj;jpd; ,UGwKk; miutl;lk; ,ize;j tbtpy; xU 
Njhl;lk; mike;Js;sJ. me;jr; nrt;tfj;jpd; ePsk; kw;Wk; mfyk; KiwNa 
16 kP kw;Wk; 8 kP vdpy;> gpd;tUtw;iwf; fzf;fpLf.  
i. Njhl;lj;jpd; Rw;wsT   ii. Njhl;lj;jpd; nkhj;jg; gug;gsT  
(i) the perimeter of the garden    
(ii) the total area of the garden 
 

12. A canal in the shape of trapezium width 1 m is constructed all along inside 
the field which is 24 m long and 15 m wide. Find  
(i) the area of the canal     

(ii) the cost of constructing the canal at the rate of ₹12 per sq.m.  
24 kP ePsKk;> 15 kP mfyKk; cs;s xU rhptf tbt tay;ntspf;F cl;Gwk; 
1 kP mfyKs;s tha;f;fhy; ntl;lg;gLfpwJ vdpy;> (i) me;j tha;f;fhypd; 
gug;gsT fhz;f. (ii) xU r.kP-f;F ì12 tPjk; tha;f;fhy; mikf;f MFk; 
nkhj;jr; nryitf; fhzf;fpLf.  
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13. A path 2 m long and 1 m broad is constructed around a rectangular ground 
of dimensions 120 m and 90 m respectively. Find the area of the path. 
ePsk; 120 kP kw;Wk; myfk; 90 kP cs;s xU nrt;tf tbtj; Njhl;lj;ijr; 
Rw;wp 2 kP ePsKk;> 1 kP mfyKk; cs;s ghij mikf;fg;gLfpwJ. me;jg; 
ghijapd; gug;gsT fhz;f.  
 

14. Pradeep wants to make a semicircular arch design at the entrance of his 
house with three equal sectors, to be fitted in the iron frame. Find the length 
of the iron frame required and also the area of each of the sectors for which 
the mirrors to be fixed.  (Radius of the semi-circle = 49 cm)   
gpujPg;> jdJ tPl;bd; Eiothapypy;> %d;W rk msTs;s tl;lf;Nfhzg; 
gFjpfisf; nfhz;l miutl;l tbtpyhd tistpid> ,Uk;Gr; rl;lj;jpidg; 
gad;gLj;jp mikf;f tpUk;Gfpwhh;. mij cUthf;fj; Njitg;gLk; ,Uk;Gr; 
rl;lj;jpd; ePsj;ijAk;> fz;zhb nghUj;Jtjw;fhfg; gphpf;fg;gl;Ls;s xt;nthU 
gFjpapd; gug;gsitAk; fhz;f. (miutl;lj;jpd; Muk; 49 nr.kP) 
   

15. A horse is tethered to one corner of a rectangular field of dimensions 70 m ×  
52 m by a rope 28 m long for grazing. How much area can the horse graze 
inside? How much area is left ungrazed? 
nrt;tf tbtpyhd 70 kP × 52 kP ghpkhzk; nfhz;l fsj;jpy; xU %iyapy; 
xU Fjpiu Nka;tjw;fhf 28 kP ePsk; nfhz;l fapw;wpdhy; fl;lg;gl;Ls;sJ. 
Fjpiu fsj;jpd; cs;Gwkhf NkAk; gug;gsitf; fhz;f. Fjpiu Nkahj 
fsj;jpd; gug;igf; fhz;f.  
 
 


